Example
Calculate the force of attraction between an electron and a proton in a hydrogen atom.

Solution

A hydrogen atom is just a proton and an electron. The separation distance between them is simply the radius
of the hydrogen atom.
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Example
How many electrons make up a charge of -30.0 uC?
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Example
Particles of charge +70, +48, and -80 puC are placed in a line as shown in the figure. The center one is 0.35m
from each of the others. Calculate the net force on the leftmost charge due to the other two.
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Example
Three charged particles are arranged in a triangle as shown in the figure below. Find the net electric force on

particle A. _
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